TLEYTI

Procent af tal (manglende tal)

Navn:

x40% = 21.6

x 50% = 26

x 70% = 26.6

x 60% = 12

x 80% = 62.4

x20% =94

x 20% = 6.8

x 50% = 28

x70% = 39.2

x 60% =41.4

www.snowmath.com

Dato:

x 40% = 15.6

x30% =21.6

x 40% = 27.6

x 80% = 48

x 80% = 48.8

x 30% = 21.6

x 30% = 14.1

x70% = 31.5

x 50% = 35

x 40% = 12.8

Score:
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TPIEYa

Procent af tal (manglende tal)

Navn:

54 x40% = 21.6

52 x 50% = 26

38 x70% = 26.6

20 x 60% = 12

78 x 80% = 62.4

47 x20% =94

34 x20% = 6.8

56 x 50% = 28

56 x70% = 39.2

69 x 60% = 41.4

39 x40% = 15.6

72 x30% = 21.6

69 x 40% = 27.6

60 x 80% = 48

61 x 80% = 48.8

72 x 30% = 21.6

47 x 30% = 14.1

45 x70% = 31.5

70 x 50% = 35

32 x40% = 12.8
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Dato:

Score:
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